[bookmark: _GoBack]Part I: If the sentence is passive voice, rewrite the sentence, turning it into active voice.
1.  The man was bitten by a dog.
Subject: ____________________  Verb: _____________________  implies the act of ____________________________.
Who / what does this: ___________________________________  so:          ACTIVE   /  PASSIVE
Rewrite? __________________________________________________________________________________________.
2. Yesterday was a great day!
Subject: ____________________  Verb: _____________________  implies the act of ____________________________.
Who / what does this: ___________________________________  so:          ACTIVE   /  PASSIVE
Rewrite? __________________________________________________________________________________________.
3. She met an old friend at the movies.
Subject: ____________________  Verb: _____________________  implies the act of ____________________________.
Who / what does this: ___________________________________  so:          ACTIVE   /  PASSIVE
Rewrite? __________________________________________________________________________________________.
4. After finishing his homework, he was asked to clean the kitchen.
Subject: ____________________  Verb: _____________________  implies the act of ____________________________.
Who / what does this? ___________________________________  so:          ACTIVE   /  PASSIVE
Rewrite? __________________________________________________________________________________________.
5. They were given only twenty minutes to finish the assignment.
Subject: ____________________  Verb: _____________________  implies the act of ____________________________.
Who / what does this? ___________________________________  so:          ACTIVE   /  PASSIVE
Rewrite? __________________________________________________________________________________________.
6. Everyone was laughing at his comedy routine.
Subject: ____________________  Verb: _____________________  implies the act of ____________________________.
Who / what does this: ___________________________________  so:          ACTIVE   /  PASSIVE
Rewrite? __________________________________________________________________________________________.
7. The new product was demonstrated for the audience.
Subject: ____________________  Verb: _____________________  implies the act of ____________________________.
Who / what does this? ___________________________________  so:          ACTIVE   /  PASSIVE
Rewrite? __________________________________________________________________________________________.

Part II: There is no part II.
